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J[:%iva K & OUT IN TOTAL HD NET |lEf K %& OUT IN TOTAL HD NET | lEfL K & OUT IN TOTAL HD NET |lBf K & OUT IN TOTAL HD NET
1 [ms z% 45 46 91 192 71.8| 1 |E#® ®# 48 50 98 27.6 70.4| 1 |ZM F® 45 39 84 12.0 72.0| 1 |Kk& WF 53 44 97 22.8 742
2 |dyll FM2 45 S0 95 216 73.4|2|BA B 46 47 93 216 71.4| 2 |Z@ %= 41 45 86 132 72.8| 2 |BA FHRF 50 49 99 24.0 75.0
3|mE % 50 48 98 240 74.0| 3 Bk BB 48 48 96 228 73.2| 3 % A 51 52 103 30.0 73.0| 3 |MME BAX 52 50 102 26.4 75.6
4 I % 43 46 89 14.4 74.6| 4 |E H—ED 46 44 90 168 73.2| 4 |A# 8 47 43 90 16.8 73.2| 4 |&5H HF 56 51 107 288 78.2
5 I Z*x 54 52 106 312 74.8| 5 | % 51 44 95 21.6 73.4| 5 |@H =—EF 49 51 100 26.4 73.6| 5 |=@ AMF 50 51 101 21.6 79.4
6 |Bih %k 54 47 101 252 75.8| 6 |mm = 50 51 101 27.6 73.4| 6 /NIl B8 48 45 93 19.2 73.8| 6 |\ 3»F 50 57 107 27.6 79.4
7B ® 50 54 104 27.6 76.4| 7 |4 5— 48 56 104 30.0 74.0| 7 |BA ®E 46 46 92 18.0 74.0| 7 |k& #t® 53 56 109 28.8 80.2
8 |L#F W= 46 55 101 24.0 77.0| 8 @Il IEX 46 45 91 16.8 74.2| 8 |\ 2@ 48 48 96 21.6 74.4| 8 |Ah HRF 61 56 117 36.0 810
olmus B 53 52 105 264 78.6| 9 |=F m— 47 47 94 192 74.8| 9 |I& —BB 45 50 95 20.4 74.6| 9 |F% AMLF 48 50 98 16.8 81.2
10|mL M%) 52 50 102 22.8 79.2|10|fM {&A 59 50 109 33.6 75.4|10|%%F B8k 45 42 87 12.0 75.0|10|k\® FESF 55 53 108 26.4 816
11|k F= 56 48 104 24.0 80.0|11|%*k & 50 51 101 252 75.8|11|MA® &% 54 55 109 32.4 76.6|11|%x% =/ 58 54 112 28.8 83.2
12(888 %= 51 52 103 22.8 80.2|12|/@% = 48 46 94 18.0 76.0|12|@HET W 56 41 97 20.4 76.6|12|@m =& 59 57 116 32.4 83.6
13|70m ®F 58 58 116 34.8 81.2|13i& % 51 49 100 22.8 77.2|13|WF #\®E 53 60 113 36.0 77.0|13/4% Mt 65 54 119 34.8 84.2
143Ul @ 48 48 96 14.4 81.6|14|A% B 55 54 109 31.2 77.8| 14|50 #E 46 50 96 18.0 78.0|14|E&JI #F 55 64 119 32.4 86.6
15|®m % 54 56 110 27.6 82.4|15|B#R &3 56 58 114 36.0 78.0|15|=i8 Bl 45 50 95 16.8 78.2|15|@H = 66 60 126 36.0 90.0
16 |t BEED 57 52 109 26.4 82.6|16|WA7E =BP 52 56 108 30.0 78.0| 16|t &% 47 58 105 26.4 78.6|16|/\E Bk 64 68 132 36.0 96.0
17|85 BB S5 57 112 288 832|17|8E 5 5552 107 288 78.2/17|%E H= 5560 115 360 790 o —
18|l A 62 49 111 27.6 83.4|18|tEM #— 56 50 106 27.6 78.4|18|EE A& 53 56 109 30.0 79.0 1 2% 1
19|A) #— 61 52 113 27.6 85.4 | 19|E% & 41 51 92 132 78.8|19|@H Z* 58 53 111 30.0 81.0
20[@Eh ~ 58 61 119 33.6 85.4 |20|MA == 50 55 105 25.2 79.8|20|#iE A/t 46 55 101 19.2 81.8 Gy=7 24 %
21 |WM #ZB) 56 55 111 25.2 85.8 | 213885 ME 55 54 109 28.8 80.2| 21 |#UF 3= 51 55 106 24.0 82.0 S=y 33 %
2@l B 64 59 123 33.6 89.4 |22|FA ¥z 62 50 112 31.2 80.8|22|KM Z|x 57 59 116 32.4 83.6 — 26 %
23|mEp 8BS 61 67 128 36.0 92.0 |23|m# B 56 55 111 30.0 81.0|23|® #— 61 52 113 28.8 84.2 7 16 %
24|k BBZ% 66 68 134 36.0 98.0 |24[AVE %M 50 53 103 21.6 81.4|24 |fif FHE 57 63 120 34.8 85.2 N R 0 %

25|E®N F 54 58 112 30.0 82.0|25|® M 58 61 119 33.6 85.4 9 %

26|BA @mE®E 50 49 99 16.8 82.2|26|mE & 58 62 120 33.6 86.4

27|G@ = 54 56 110 27.6 82.4

28|iA@ %% 55 62 117 33.6 83.4
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31|k M= 59 62 121 36.0 85.0 Q0000 1000806

32|kE%W By 59 63 122 36.0 86.0

3BlEH 61 61 122 348 87.2
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gz K % OUT IN TOTAL HD NET |lEf7] K & OUT IN TOTAL HD NET |IEfiI] K & OUT IN TOTAL HD NET |lEf7 K % OUT IN TOTAL HD NET
1| ® 44 56 100 26.4 73.6| 1 |#ME #%E 51 50 101 30.0 71.0| 1 |2EMH S 43 37 80 8.4 71.6| 1 |LHE AR 51 49 100 26.4 73.6
2 |pnEE ERAER 55 50 105 31.2 73.8| 2 (i B— 47 51 98 252 72.8| 2 |{® BX 46 45 91 19.2 71.8| 2 | B 53 53 106 32.4 73.6
3 |9H A 47 43 90 156 74.4| 3 |AR Bz 48 44 92 19.2 72.8| 3 |thA FMAI 42 47 89 16.8 72.2| 3 |=# DHE 47 49 96 204 75.6
4 |k EEEP 48 46 94 19.2 74.8| 4 |[#H 3L 50 46 96 22.8 73.2| 4 |{kEE Z4fE 49 46 95 22.8 72.2| 4 |FK LEF 50 50 100 24.0 76.0
5 |%MH {#BE 56 51 107 31.2 75.8| 5 |8 = 49 47 96 22.8 73.2| 5 |#fF & 50 51 101 27.6 73.4| 5 |t &F 57 55 112 36.0 76.0
6 |BH =Fl 53 51 104 25.2 78.8| 6 |{RE Bal 47 46 93 19.2 73.8| 6 [lUE X% 51 49 100 26.4 73.6| 6 |[FME HF 45 49 94 18.0 76.0
7 |k BUEZ 49 49 98 19.2 78.8| 7 |80 ¥— 53 55 108 33.6 74.4| 7 |HuE FYS 41 46 87 13.2 73.8| 7 |[BlRE & 47 56 103 26.4 76.6
8 |#8M — 52 55 107 27.6 79.4| 8 |&M IFK 53 47 100 252 74.8| 8 |#8F M 51 48 99 252 73.8|8|KMA #@FER 52 57 109 31.2 77.8
9 |#fAk A—BB 50 50 100 20.4 79.6| 9 |B|H FMH 44 54 98 22.8 75.2| 9 |®E {L= 54 56 110 36.0 74.0| 9 |EEM &F 52 50 102 22.8 79.2
10 |AF IE 54 62 116 36.0 80.0|10|@3 AF 54 46 100 24.0 76.0|10|X% #5E 43 49 92 18.0 74.0|10|M)I BEF 56 58 114 33.6 80.4
11| BB 55 50 105 24.0 81.0|11|#&K & 47 47 94 18.0 76.0|11|EA ZH§ 44 42 86 12.0 74.0|11|#3 RF 55 51 106 25.2 80.8
12 |7%F &8 58 56 114 32.4 81.6|12|Ff - 59 52 111 34.8 76.2|12|LkM &% 51 57 108 32.4 75.6|12|H%E ZF 60 54 114 32.4 81.6
13 |¥h =i 51 56 107 25.2 81.8|13|AAMR 5= 49 55 104 27.6 76.4|13|{w B 53 55 108 31.2 76.8|13|FEAK HEF 45 51 96 13.2 82.8
“|EF 5 60 59 119 36.0 83.0|14|FA #%F 52 49 101 24.0 77.0|14|IB&f H 41 52 93 156 77.4|14|BK IZF 56 64 120 36.0 84.0
15|58 BB 55 66 121 36.0 85.0|15|kE & 46 49 95 18.0 77.0[15|ILF EA 55 56 111 31.2 79.8|15|luAk =&FF 62 58 120 36.0 84.0
16 |fFBE Ak 56 64 120 33.6 86.4|16|fW= X5 55 51 106 28.8 77.2|16|#A BB 55 55 110 30.0 80.0|16|# fofkZE 58 63 121 36.0 85.0
17 |&E 8— 58 67 125 34.8 90.2|17|MJIl #kth 48 52 100 22.8 77.2|17|@M& 2 53 58 111 30.0 81.0|17|##& H=EF 57 54 111 25.2 85.8

18|83k X 53 51 104 26.4 77.6|18|=M ®E 62 55 117 34.8 82.2|18|iRK NF 56 59 115 28.8 86.2

19|Rll B5h 54 54 108 30.0 78.0|19|FE ®E 55 50 105 22.8 82.2|19|Ht #F 63 62 125 36.0 89.0

20 |94t F0EZ 45 53 98 19.2 78.8|20|#&S A 52 50 102 19.2 82.8(20|FHE &F 62 66 128 36.0 92.0

21|FAK = 57 52 109 30.0 79.0|21 M A 55 59 114 31.2 82.8|21|{55 HiE 78 73 151  36.0 115.0

22|#A Bk 53 50 103 22.8 80.2|22|M~2A B 64 60 124 36.0 88.0

23|k #B% 55 57 112 31.2 80.8| 23|14 a;g 68 62 130 36.0 94.0 s 6 5 EERSE BAG S

24|M4F BREB 50 56 106 25.2 80.8|24|FH HFE 67 71 138 36.0 102.0

258K B 54 58 112 30.0 82.0|25|IUF IF%E 65 76 141 36.0 105.0 WREFT

26|21 M3 62 58 120 36.0 84.0 G>=7 17 %

27 |HE PR 60 61 121 36.0 85.0 STy 34 %

28|B% = 50 65 115 30.0 85.0 — % 25 %

29| KMl IEBE 58 62 120 34.8 85.2 7z % 21 %

30|kE & 64 56 120 32.4 87.6 N R 0 %

31|FHE BiE 67 59 126 36.0 90.0 97 %

32|#) ¥ 62 65 127 36.0 91.0 RUR=)l

33|&it BZ 68 65 133 36.0 97.0 , .

34|3)l BT 69 68 137 36.0 101.0 7%-@@@@@ “@@@@
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gz K % OUT IN TOTAL HD NET |l K % OUT IN TOTAL HD NET |lBfI| K % OUT IN TOTAL HD NET |l K % OUT IN TOTAL HD NET
1|#M £3 46 51 97 264 706| 1|88 B 46 45 91 168 74.2| 1 |l = 51 50 101 31.2 69.8| 1 |&AF FIF 45 43 88 13.2 748
2/BE B 46 49 95 216 73.4|2|E EE 44 49 93 18.0 75.0| 2 |R¥ EZ 46 50 96 21.6 74.4| 2 |&H SE 49 45 94 192 74.8
3 |EM BHAES 50 47 97 204 76.6| 3 |EH FME 49 53 102 26.4 75.6| 3 |®IL #E 42 49 91 156 75.4| 3 |HE BHEX 51 49 100 24.0 76.0
4 |k = 51 58 109 32.4 76.6| 4 |&% B8 47 54 101 252 75.8| 4 |4t/ BAE 50 50 100 24.0 76.0| 4 |A¥ £F 52 61 113 36.0 77.0
5|4 B= 56 49 105 27.6 77.4|5|#L i 48 50 98 21.6 76.4| 5 =M —# 45 46 91 14.4 76.6| 5 M ®E 47 45 92 12.0 80.0
6|@E ® 5351 104 264 77.6| 6| Btk 48 56 104 27.6 76.4| 6 |EAJ| =7 53 47 100 22.8 77.2| 6 |AMREF BF 57 58 115 34.8 80.2
7|@B #® 44 54 98 204 77.6| 7|F®H & 53 57 110 32.4 77.6| 7 |¥y@ BB 49 51 100 22.8 77.2| 7 |BER mF3 53 55 108 27.6 80.4
8 | AT #8 60 54 114 34.8 79.2| 8| IR 52 49 101 22.8 78.2| 8 |BiR #th 47 45 92 144 77.6| 8 |MM BF 56 58 114 33.6 80.4
9 |33 ®ME 52 49 101 21.6 79.4| 9 |B% {— 50 52 102 22.8 79.2| O |#N% ¥# 50 41 91 13.2 77.8| 9 |B % 60 53 113 324 80.6
10|80 —8 49 52 101 21.6 79.4|10[E¥F = 55 56 111 31.2 79.8|10[%¥ EE 50 52 102 24.0 78.0|10[dtff ®F 56 60 116 33.6 82.4
11|/M ®% 51 53 104 24.0 80.0|11|&¥ X 57 47 104 24.0 80.0|11|®M % 59 55 114 36.0 78.0|11[lL0 8F 54 54 108 252 82.8
12l B— 54 54 108 27.6 80.4|12|T|# B— 54 51 105 24.0 81.0| 12| BEX 54 48 102 24.0 78.0|12|fM tYF 63 60 123 36.0 87.0
13|®B %2 50 54 104 22.8 81.2|13|%505 EHE 56 52 108 264 81.6|13[EM B@ 54 54 108 30.0 78.0|13|#x EMAEF 60 59 119 31.2 87.8
14|thily B 54 55 109 26.4 82.6|14|&E B 48 60 108 26.4 81.6| 14|tk ¥3\ 52 55 107 28.8 78.2|14|EE AXF 62 65 127 36.0 91.0
15|88/ =X 52 60 112 27.6 84.4|15|/uE 34T 55 56 111 28.8 82.2|15|&M % 53 52 105 26.4 78.6|15|2% ¥F 66 63 129 36.0 93.0
16|+ ® 57 65 122 34.8 87.2|16[# A/ 52 58 110 27.6 82.4|16|§iM #A 51 55 106 26.4 79.6 6 SEERSE A6 Sl
17| A% 58 58 116 27.6 88.4|17|®)Il fFE 50 52 102 19.2 82.8|17|HhE £ 57 54 111 31.2 79.8 = % W
18|t Bk 62 54 116 26.4 89.6|18[tht =Bp 57 55 112 28.8 83.2|18|%¥ < 52 58 110 30.0 80.0
19|@F I 51 60 111 19.2 91.8|19|A% IEA 56 55 111 27.6 83.4|19|ftH K] 55 56 111 28.8 82.2

20|@A 18 51 54 105 21.6 83.4|20|AK B 61 57 118 32.4 85.6 G>=7 19 #

212 #B 53 61 114 30.0 84.0|21|@M Hx 68 68 136 36.0 100 Sy 28 %

22|@% %3 56 50 106 21.6 84.4 — 21 %

23|MM E— 58 61 119 33.6 85.4 7 15 %

24| B— 59 58 117 30.0 87.0 N R 0 %

25|48 60 63 123 36.0 87.0 83 %

26|8M M 55 58 113 252 87.8 _

27|F/K & 68 60 128 32.4 95.6 RUR=Il

28|dbf T2ED 76 69 145 36.0 109.0 096009 1000606




